é Q C\{}% vier Briiche, Reihenfolge der Operationen

Name: Datum: Ergebnis:
I 3 1 1
—+ -+ —%x - = —+S5x=-=1=
5 2 2 6 3
l+l—lx§: §—32xl+4:
3 4 3 2 5 3
I 1 1 1 I 1 2 1
4+ x4 - = —+ - x_=
2 5 5 6 5 3 3 2
4x§+1—§: l—§+lx%:
2 5 2 5 2 5
3 1 1 1 1 3 2 3
T+ x_- = - xZ+Z=
4 4 2 6 5 4 3 4
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vier Briiche, Reihenfolge der Operationen

Name
1 3 1 1 107 47
_—|—_—|—_X_:__:1__
5 2 2 6 0 60
I 1 1 3 1
—_F - — — X - = —
3 4 3 2 12
1 1 1 1 53
—_F — X —4F — = —
2 5 5 6 5
3 2 2
gx o322 52
2 5 5 5
3 1 1 1 13 1
_—|—_—|—_X_:__:1__
4 4 2 6 12 12

Datum: Ergebnis:
53
—+S5X =-—=+]1= — =3—
3 15 15

3 1 31 I
579273 33 =2 )

I 1 2 1 1
—_F —— — X — =
5 3 3 2 5
I 3 1 2 1
—_— —_F = X - = —
2 5 2 5 10
3 2 3 9
—_— e X -t — = —
5 4 3 4 2
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